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Z 1,000,0002 %14 1,000
OAIZTE 0! 2elS AL i<
1,200,0002 %14 1,200
Odgsotelold Jjgal 34 & QIAHA
AWl 2 XA 1,000,000 14! 1,000
OF A0 23t=H LN
1,000,0002 %14 1,000
Osollt Felol ghiots "SMOF &HCH - Ot
=233 2,700,000 *14] 2,700
Odgdelel & JIgal ZA2dE XA
2,000,000 14| 2,000
Odetg &Rl JIsEIt SN
2,000,000 14| 2,000
OZ0je 2stue 1,800,0002 %14 1,800
OHofel stots =M & B0 FRES
28 NFAL 1,800,000& *14] 1,800
OE=AMI A S &Itz K&
2,600,000 %14 2,600
OGN HAIMSUS Eotaed X
2,000,000 *14] 2,000
O=ZAIXE FEIIEAE A&
2,000,000 *14] 2,000




2A:

. ZOje =X S8
Eelr Zoiel 235 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O f2 BFH w=(3D ZelE)
3,000,000 *14] 3,000
O&JI12 StLEE M (Z0HL! S0S M=
T2 29) XY 2,000,000 %14 2,000
OXYHMIEZs =M & H23 U=
K3 3,000,000& *14] 3,000
O=HMHAYE=EN & 23 AU
A2 1,800,000 %14 1,800
OFe! £= BFE WER(PCEY,=2l)
3,000,000 *14] 3,000
OFOHe! M (M) =
3,000,000& *14] 3,000
OS&M =23t5Y & H2Us
2,000,000 %14 2,000
OWdEM I 2otHE
2,000,000 *14] 2,000
Oy E0el AHHBE st eSHI| 2
== 1,900,000 *14] 1,900
OOl&R RIS SIgt M2IXR DA 2
1,000,000 %14 1,000
ONd&Hel QAR E PIst AAKX 1A
M w2 4,000,00024 14! 4,000
OXZoiel 2SI &I XA
1,000,000 *14] 1,000
OZi«ue =29 3,500,000 *14] 3,500
OH=HAFL2U2 SIIKIAAS
1,300,0002 %14 1,300
OZO0e e QIE2]H 24
2,000,000& *14] 2,000
OZofe! stote 2&HX
40,000,000 x 14 40,000
OZ el & Hig Z2NE
15,000,000 * 14 15,000
ORI112l ZoHel AUSAHS
5,000,000 * 14 5,000
401 Al HIZL 01| 20,000 20,000
01 Al&H| 20,000 20,000
OS=Ma F2el S22
20,000,000& * 14 20,000
405 KHoHFSHI 8,600 8,600
01 ML ESFSHI 8,600 8,600
Ol dSEMO s8I &
4,300,000 =2CH 8,600
ZOHRIEH IR 176,529 105,440 71,089
& 34,632
Al 141,897
307 glztol & 176,529 105,440 71,089
= 34,632




SN COIFORQI Dt
. ZOje =X S8
ool molel 25 (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 141,897
11 AMEISXAEEXS 176,529 105,440 71,089
OOSTONS SHH AHIA At
138,529,000 * 14 138,529
== 34,632
Al 103,897
OFopel &l 2 243 XA (64)
38,000,000 » 14 38,000
ZOHAILTLIXIH (SXE, S3H) 2,794,269 2,574,422 219,847
= 1,395,306
S 419,691
Al 979,272
301 LEtE NS 2,794,269 2,574,422 219,847
= 1,395,306
< 419,691
Al 979,272
01 ABIEEELH (202X 2,794,269 2,574,422 219,847
ONfIY RN A (=X E)
2,260,348,000& x 14 2,260,348
= 1,130,174
< 339,062
Al 791,122
OF Kl X & (S3H)
331,391,000& x 14 331,391
= 265,132
[ 19,880
Al 46,379
ONdgHSHSSHMNASS LA
202,530,000 x 14 202,530
= 60,759
Al 141,771
ZHOHQI LRt X2 (LEHS) 1,589,977 1,589,977 0
= 794,989
= 238,4%6
Al 556,492
301 EtE2 N = 1,589,977 1,589,977 0
= 794,989
= 238,4%6
Al 556,492
14 IIEt2 83 1,589,977 1,589,977 0
OZHAHAF 0! X (HLH)
1,451,977,000& x14] 1,451,977
= 725,989
= 217,7%
Al 508,192




2A:

. ZOje =X S8
o2 ool 235 (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZONQIBE 20| X2 (A2HH)
138,000,000 *14] 138,000
= 69,000
[ 20,700
Al 48,300
FU=00I1x) = 1,002,061 823,314 178,747
= 701,443
[ 90,186
Al 210,432
301 LEIE NS 1,002,061 823,314 178,747
= 701,443
s 90,186
Al 210,432
01 Al 2E AL S(FREXM) 1,002,061 823,314 178,747
OFEUM=EIx) X=
1,002,061,000& x14] 1,002,061
= 701,443
=S 90,186
Al 210,432
=2 (R S) X= 728,953 686,522 42,431
= 510,267
=S 65,606
Al 153,080
301 EtE NS 728,953 686,522 42,431
= 510,267
= 65,606
Al 163,080
01 Al EE A S (2 RDEEA) 728,953 686,522 42,431
OZM==E (9 S) X3
728,953,000 *14] 728,953
= 510,267
= 65,606
Al 163,080
gofelis =0 A= 8,475,786 8,464,719 11,067
= 5,933,050
= 762,821
Al 1,779,915
301 LEtE N = 8,475,786 8,464,719 11,067
= 5,933,050
= 762,821
Al 1,779,915
01 A2 HSFS(RNEERTHE) 8,475,786 8,464,719 11,067
OFelgs 20 N2
8,475,786,000& *14] 8,475,786




SN COIFORQI Dt
2 Zoiel =X S
o2 ool 235 (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 5,933,050
T 762,821
Al 1,779,915
MNASHOHO! &MEH] & HAHH XI& 5,200 4,630 570
= 2,600
T 780
Al 1,820
301 LEBNF 5,200 4,630 570
= 2,600
& 780
Al 1,820
01 AISIBE X 2GS (2 RETME) 5,200 4,630 570
OMAS ZoHe!l &ed] 2 2 A R
5,200,000 * 14| 5,200
= 2,600
& 780
Al 1,820
SOHCl EXD1D] WA 23,019 23,019 0
= 18,415
Al 4,604
301 LEBNEF 23,019 23,019 0
= 18,415
Al 4,604
01 Al B&X2HZ2(2REETR) 23,019 23,019 0
OROYe!l 2EII| DRI
23,019,000 & 14| 23,019
= 18,415
Al 4,604
HETHEMEIA BHIRH K& 689,494 669,600 19,84
= 482,646
& 62,054
Al 144,794
301 LPENSZ 689,494 669,600 19,894
= 482,646
= 62,054
Al 144,74
01 Al B&XHZ2(2REETA) 689,494 669,600 19,84
OLEMEAMEIA BIRH XA
689,494,000& * 14! 689,494
= 482,646
= 62,054
Al 144,74
HEHEAEIA SHIEH 324,000 324,000 0
& 97,200




SA I OoNel 1t
. ZOje =X S8
&9l Z0jl 23 LR
A - ZE - BR(E) - AIRANY - BES ofl &t G o HIDEZ
Al 226,800
307 gl2tol & 324,000 324,000 0
=S 97,200
Al 226,800
10 AlRISXAIZEHE 22X 324,000 324,000 0
OLSTHEMHIA CHI=HH
324,000,000& *14] 324,000
< 97,200
Al 226,800
oSS0 A2 15,051,927 11,913,280 3,138,647
= 10,536,350
< 1,354,674
Al 3,160,903
301 EtE NS 15,051,927 11,913,280 3,138,647
= 10,536,350
== 1,354,674
Al 3,160,903
01 Al 2E A S(EREXME) 16,061,927 11,913,280 3,138,647
Oodasia S0
15,051,927,000& * 14! 16,051,927
= 10,536,350
s 1,354,674
Al 3,160,903
ZOHAUESKIE & FIHAY 1,760,303 1,274,248 486,055
= 352,060
Al 1,408,243
307 212to1d 1,760,303 1,274,248 486,065
= 362,060
Al 1,408,243
10 Al SXAAEEHE 22X 1,760,303 1,274,248 486,055
OZAESKA = FIAE
1,760,303,000& x 14} 1,760,303
=S 352,060
Al 1,408,243
SV R [N 485,750 462,406 23,344
= 388,600
=S 29,145
Al 68,005
308 AHXIHMSO0IA 485,750 462,406 23,344
= 388,600
= 29,145
Al 68,005
11 S 2S0UeZBSHASAIE 485,750 462,406 23,344
O&0je! 2= 485,750,000 x 14 485,750
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A COIZHOHOI Dt
Ha: Dol =X S
chel: ToHol 25 (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 816,192
< 104,939
Al 244,858
S IOl YNE SHAHIA KR 225,037 225,037 0
= 157,526
s 20,252
Al 47,259
307 01201 225,037 225,037 0
=2 157,526
= 20,252
Al 47,259
I EET N EEEE TS 225,037 225,037 0
LTI LIS SHMHIA KR
205,037,0002 14} 225,037
=2 157,526
= 20,252
Al 47,259
HEBX IS0 118,570 43,680 74,89
=2 83,000
= 10,670
Al 24,900
301 LB 118,570 43,680 74,890
2 83,000
= 10,670
Al 24,900
01 A BB EAFS (N2 EMHL) 118,570 43,680 74,89
OES2Z IO 118,570,00024 14} 118,570
2 83,000
= 10,670
Al 24,900
LULTORO AISIE 2202 X (HE2Y) 12,000 12,000 0
= 3,600
Al 8,400
307 L1201 2,000 12,000 0
< 3,600
Al 8,400
I EET N EEEE e 12,000 12,000 0
OLL IOl MBI T2 KB (XHE
29)) 12,000,002 141 12,000
= 3,600
Al 8,400
Dol DD AR Y T2 29 60,000 60,000 0
= 18,000




SN COIFORQI Dt
. ZOje =X S8
ool molel 25 (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 42,000
307 gl2tol & 60,000 60,000 0
=S 18,000
Al 42,000
11 ABIS XA EE 60,000 60,000 0
OmOe!l BAW XS Y T2 2
60,000,000 * 14| 60,000
< 18,000
Al 42,000
ZoHe!l =0 ua 23 10,000 10,000 0
= 3,000
Al 7,000
307 @20l & 10,000 10,000 0
=S 3,000
Al 7,000
11 AMISXAIEEX 10,000 10,000 0
OBOE 20D 2
10,000,000 * 14! 10,000
< 3,000
Al 7,000
SO D=2 6H0I A KIRAHY 14,700 14,700 0
= 3,675
Al 11,025
301 eEtE N = 14,700 14,700 0
= 3,675
Al 11,025
01 Al EE A S(FRDEXA) 14,700 14,700 0
OFMADE=Z6I0/THA X2 A
14,700,000 * 14! 14,700
[ 3,675
Al 11,025
AYEO o=H| XA 14,625 14,625 0
= 2,925
Al 11,700
301 LEtE N = 14,625 14,625 0
S 2,925
Al 11,700
01 Al EE A S (FRNEXA) 14,625 14,625 0
OAZZEO 2ZH| XA
14,625,000 * 14! 14,625
S 2,925
Al 11,700
LEHQ AS0LAS 19,200 0 19,200
= 5,760




SA I OoNel 1t
mo: Fojel =X S
Eelr Zoiel 235 (SH &)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
Al 13,440
301 EtE NS 19,200 0 19,200
=S 5,760
Al 13,440
01 Al E2E AL S(FRDEXMA) 19,200 0 19,200
OOl ASH LA
19,200,000 * 14| 19,200
= 5,760
Al 13,440
ZoHe! Al =2 19,617,910 18,382,426 1,235,484
= 7,932,802
< 2,934,740
Al 8,750,368
ORI ME AL X2 11,415,14 10,297,403 1,117,751
= 7,798,208
== 1,096,751
Al 2,560,195
307 212+01& 11,415,14 10,297,403 1,117,751
= 7,758,208
= 1,096,751
Al 2,560,195
10 AlRISXAEEE 22X 11,415,14 10,297,403 1,117,751
OFOHQ! HEAIE 2HHI(5HA)
11,083, 154,000& x14] 11,083,154
= 7,758,208
= 997,483
Al 2,327,463
OHOHQ! HEAIL ZEHIAHI(5IHA)
6,640,000 * 14 6,640
< 1,660
Al 4,980
Ol HEAE S SANEESE
315,360,000 * 14 315,360
= 94,608
Al 220,752
Ol MEAIL EAT =IHES
10,000,000 *1& 10,000
< 3,000
Al 7,000
ZOHRIASFAIE BIIHED| dEXIJ 6,000 6,000 0
= 3,600
< 1,200
Al 1,200
307 elztol & 6,000 6,000 0




SA I OoNel 1t
mo: Fojel =X S
el Z0Hel Al 2E (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 3,600
=S 1,200
Al 1,200
10 Al SXAEEE 22X 6,000 6,000 0
OO0 MEAIE SIIEFHI| S X2 (204
) 6,000,000 * 14 6,000
= 3,600
= 1,200
Al 1,200
ZOHA XIS AL THE A X 5,393,440 4,971,047 422,393
[ 871,852
Al 4,521,588
307 glztol & 5,323,440 4,971,047 362,393
= 871,852
Al 4,451,588
10 Al SXAAEEHE 22X 5,273,440 4,971,047 302,393
Og==i& 2gbl
1,456,204,000& »14] 1,456,294
< 218,444
Al 1,237,850
OSZEAIZMAUSS=N2 28|
1,423,714,000& x14] 1,423,714
< 213,557
Al 1,210,157
O i =sRI2 SAHI XIZAF (290 A)
307,200,000 * 14 307,200
< 92,160
Al 215,040
OOl SIIESAIE 2SHI(10HA)
196,300,000 * 14! 196,300
< 29,445
Al 166,855
OXISAIZI S, MNATHEAE S EMA S
g+g 113,400,000 *14] 113,400
= 34,020
Al 79,380
OHUMLUAE & SAA EII25=2 (e
oF L5 45,830,0002 *14! 45,880
OT0H SSHEIE 2HHI(6HA)
272,902,000 x 14 272,902
= 32,748
Al 240,154
OOl =AESAIE 2EHI(3IHA)
801,445,000 x14] 801,445
< 120,217




SA I OoNel 1t
mo: Fojel =X S
el Z0Hel Al 2E (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 681,228
OAIZEOHRI M0 SXIRJMEH 2SI (1A
) 336,090,000& *14] 336,090
[ 67,218
Al 268,872
Ox=0lSHHEH 2SHI(10H2)
320,215,000 * 14 320,215
= 64,043
Al 256,172
1 AMISXAIEEX 50,000 0 50,000
LI EXRII] AALS RIRAH(
234l) 50,000,000& » 14! 50,000
402 QI>F X201 & 70,000 0 70,000
01 QIZEXHZ AL 2 (KM T & 70,000 0 70,000
OLLZOoHel BEII| AYALS KR A
BXID| 257Y) 70,000,000 *14] 70,000
SSTMHA NS LEHH X2 426,533 409,666 16,867
= 63,413
= 82,136
Al 280,984
307 elztol & 426,533 409,666 16,867
= 63,413
< 82,136
Al 280,984
10 Al SXAEEHE2EHI 22X 426,533 409,666 16,867
ORI XM ZHY
158,533,000 *14] 158,533
= 63,413
[ 28,536
Al 66,584
ORI ML NALMHEEH| =
FOtALE 58,000,000& * 14 58,000
= 11,600
Al 46,400
OSZZMHANEHEHEH2S]
210,000,000& *14] 210,000
[ 42,000
Al 168,000
ZOHAXSIHEAE 2SN 1,192,006 1,068,321 133,685
= 214,562
Al 977,444
307 el2to| & 1,192,006 1,058,321 133,685
= 214,562
Al 977,444
10 AlRISXAZEE 22X 1,192,006 1,068,321 133,685




2A:

. ZOje =X S8
el Z0Hel Al 2E (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OF0NQl HATHEAE 2BHI(3H2)
1,097,926,000& » 14 1,097,926
= 197,627
Al 900,299
OmONO! NATHEAIL 22F0HQl A
K& (3H ) 94,080,000 * 14! 94,080
< 16,935
Al 77,145
ZojelE oS = X2 EEH 24 182,885 101,000 81,885
= 44,766
Al 138,119
307 el2to| & 182,885 101,000 81,885
= 44,766
Al 138,119
1 AMEISXAIEEXS 182,885 101,000 81,885
OZHABEASAI =X LH 2|
101,000,000 * 14! 101,000
== 20,200
Al 80,800
OHOHABEIAIE H=TA 2EH|
81,885,000& » 14 81,885
= 24,566
Al 57,319
o JIEXHAE XA 187,006 187,006 0
s 37,401
Al 149,605
307 212+01& 187,006 187,006 0
& 37,401
Al 149,605
10 AlRISTIAIEEE 22X 187,006 187,006 0
OS2 M 2|
187,006,000 14 187,006
= 37,401
Al 149,605
o MEgs 29 111,200 109,245 1,955
=S 22,240
Al 88,960
307 @I2t01 & 111,200 109,245 1,955
S 22,240
Al 88,960
10 AlRIS XA EEE 22X 111,200 109,245 1,955
OZoHe HEE 22X (29H)
111,200,000 * 14| 111,200
= 22,240




2A:

. ZOje =X S8
el Z0Hel Al 2E (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 83,960
LB NS AIHAE KA 550,000 500,000 50,000
== 550,000
307 el2to| & 550,000 500,000 50,000
= 550,000
10 Al2IS XA EEE 22X 550,000 500,000 50,000
OLYHNIBMDSTAHE S|
550,000,000& x14] 560,000
= 550,000
JOHINFAIE S2=E 153,686 0 153,686
= 107,581
=S 13,832
Al 32,273
307 21201 & 153,686 0 153,686
= 107,581
= 13,832
Al 32,273
10 AlISXAAZEHE 22X 153,686 0 153,686
OZ el HFAIE FL+E(5I44)
153,686,000 * 14 153,686
= 107,581
= 13,832
Al 32,273
LQAANE 29F 3,810,287 3,447,609 362,678
= 2,609,241
= 583,963
Al 617,083
SEIRAAEXE 3,810,287 3,447,609 362,678
= 2,609,241
== 583,963
Al 617,083
307 elztol & 3,810,287 3,447,609 362,678
= 2,609,241
[ 583,963
Al 617,083
10 Al2IS XA EEE 22X 3,810,287 3,447,609 362,678
OHAQUAIE 2EHI(114)
3,727,487 ,000& x 14 3,727,487
= 2,609,241
< 559,123
Al 559,123
OZUQLAANE SAHL SEE22
77,040,000 *14] 77,040
= 23,112




SN LoIZ0felD:
. ZOje =X S8
Chel: ARAALE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 53,928
OFMQVAIL AEBA|
5,760,000 * 14 5,760
[ 1,728
Al 4,032
=D =dE2H et 19,619,959 17,880,245 1,739,714
= 17,122,199
= 1,420,873
Al 1,076,887
NASSE AN 5,631,632 5,527,917 103,715
= 4,842,991
S 410,280
Al 378,361
K22 A 4,319,739 4,288,900 30,839
= 3,887,765
S 302,382
Al 129,592
101 e124d| 454,972 424,133 30,839
= 400,475
=S 31,848
Al 13,649
04 JIZtN2Z2 XS 2 454,972 424,133 30,839
OXEZZAIY 2124d|, 404 2=
454,972,000 x14] 454,972
= 400,475
= 31,848
Al 13,649
201 =3 29,720 29,720 0
= 26,748
S 2,080
Al 892
01 AtR2tc|HI 29,720 29,720 0
OXE22AY =& A HF L (2304S)
800,000& 230 = 18,400
= 16,560
= 1,288
Al 552
OXr2AtE HHESHI(A,S)
3,000,000& *14] 3,000
= 2,700
S 210
Al 0
OXr2AE =T SEHI(AlL,S)
8,000& 20 52 8,320




SN COIFORRI T
M D=2l LAt
Bel: NASS NI (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 7,488
=S 582
Al 250
202 04| 9,800 9,800 0
= 8,820
= 686
Al 2%
01 2K 9,800 9,800 0
OREAR EX &
100,000 x4 x 123 4,800
= 4,320
= 336
Al 144
OXIEAIY MET| 28t
200,000& x25H 5,000
= 4,500
=S 350
Al 150
301 22N = 1,800 1,800 0
= 1,620
= 126
Al 54
01 Al E2E A S(FREEMA) 1,800 1,800 0
O=X=201 W=sHl K&
150,000& x2S +6E 1,800
= 1,620
= 126
Al 54
307 212+01& 3,823,447 3,823,447 0
= 3,441,102
= 267,642
Al 114,703
1 AMISXAIEEXE 3,823,447 3,823,447 0
OXE 22 AL (=801 2t)
3,823,447,000& 10 A 3,823,447
= 3,441,102
= 267,642
Al 114,703
NS 2L 28X 497,673 478,981 18,692
= 339,972
= 48,567
Al 109,134
307 gl2to| & 485,673 478,981 6,692
= 339,972




SN COIFORRI T
33 D ZHEEHO s
Bel: NASS NI (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 48,567
Al 97,134
10 Al SXAEEHE2EHI2x 485,673 478,981 6,692
OXI Xt el 2HI(19H2)
485,673,000 * 14 485,673
= 339,972
< 48,567
Al 97,134
401 Al HIZ 2018 12,000 12,000
01 Al&H| 12,000 12,000
OSEXATEHE UAHE g9
12,000,000 *14] 12,000
NS HE SAHL S84 14,160 15,120 2960
== 3,888
Al 10,272
307 212+01& 14,160 15,120 A960
< 3,888
Al 10,272
10 Al SXAEEHE2EHI 22X 14,160 15,120 A960
OXNSA2HE SAHL S8+
90,0003 x12H* 123 12,960
= 3,888
Al 9,072
OXSTHEHEE SARL 125+
20,0002 +58 * 122 1,200
K Arell2tel Al 2 30,992 30,992 0
& 9,298
Al 21,694
307 lztol & 30,992 30,992 0
= 9,298
Al 21,694
10 Al SXAAEEHE 22X 30,992 30,992 0
OXtEAtdI2EIA 28
30,992,000 x 14 30,992
=S 9,298
Al 21,694
oZ2sEHUE =2 23X AL 769,068 0 769,068
= 615,254
=S 46,145
Al 107,669
307 @12t01 & 769,068 0 769,068
= 615,254
= 46,145
Al 107,669
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Os|WIIBSE | 50,000,000 14! 50,000
= 40,000
= 3,000
Al 7,000
Os|IIsSHE I 73,311,000& * 14! 73,311
= 58,649
= 4,39
Al 10,263
ougsIzs& 43,200,000 14 43,200
= 34,560
= 2,592
Al 6,048
O3HyWIIZEE 52,500,000 14! 52,500
= 42,000
= 3,150
Al 7,350
OHE NS A% 250,000,000 *14] 250,000
= 200,000
= 15,000
Al 35,000
Os|LH=HAE | 53,163,000 & 14! 53,163
= 42,530
& 3,190
Al 7,443
O3 YM=AHZE 1 27,769,000 14! 27,769
= 22,215
& 1,666
Al 3,888
OHAHL M E=HZH (XA 018t)
24,259,000 * 14! 24,259
= 19,407
= 1,456
Al 3,3%
OXAHL M S HIZ(XHAHR =1
194,866,000 3 14! 194,866
= 155,893
= 11,692
Al 27,281
FH3AH XA 13,848,586 12,219,472 1,629,114
= 12,279,208
= 996,993
Al 572,385
FNH=0 13,436, 100 12,184,472 1,251,628
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Al 405,265
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OZNB0 Bt ALEZ 014
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Al 42,000
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= 54,913
Al 128,130
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= 54,913
Al 128,130
01 Al EE A ZS(2DEXMR) 366,086 0 366,086
OFIENESAISEXFAY
366,086,000 * 14 366,086
= 183,043
= 54,913
Al 128,130
FHUA FHEMNEAS 35,000 36,000 0
402 2IZtA=01d 35,000 35,000
02 QI XHZ AL E R (01X THE) 35,000 35,000
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